UWANA Hospitals & Institutions October 2021 Meeting Minutes

Date: Sunday, November 21st, 2021, 4:00pm

General Attendance:

- Trevor
- Cate
- Robin
- Mel
- Aaron
- Kallie
- Julie N
- Leska
- Doug

1st Time: Aaron, Julie N., Mel, Cate, Kallie 2nd Time:

Meeting opened at 4:05pm

1. Readings

- 1.1 12 Traditions: Yes, was read by Aaron
- 1.2 12 Concepts: Yes, was read by Cate

2. Attendance by Position

- 2.1. Chair: Carol Yes
- 2.2. Vice Chair: Amanda Yes
- 2.3. Panel Coordinator: Stephanie Yes
- 2.4. Secretary: James H. Yes
- 2.5. Literature: Collyn Yes
- 2.6. Women's Jail: Carol G Yes
- 2.7. Men's Jail: Jack M No
- 2.8. Orange Street: Carol G Yes
- 2.9. Valley Epic: Juli B /Ryan Y. Yes, Juli B.
- 2.10. Prison: Nate No
- 2.11. Women's Prison Collyn Yes
- 2.12. Salt Lake Behavioral: Jeremy F No, but Jason reporting
- 2.13. VA Hospital: Larry C No, but Carol reporting
- 2.14. Odyssey House: Sara No (sent report)
- 2.15. VOA: Joey L. No
- 2.16. Recovery Ways: Amanda Yes, Stephanie can report
- 2.17. Fred House: Jack No

3. Previous Month's Meeting Minutes:

- 3.1. Received by all? Yes
- 3.2. Amendments? None
- 3.3. Approved? Yes? Stephanie E. 2nd Yes? Kallie

4. Panel Reports

4.1. General Reports

- 4.1.1. Chair (Carol)
 - Not a lot to report
 - Elections next month. If you are interested in being of service, please show up. Position descriptions can be found at UWANA.org
- 4.1.2. Vice Chair (Amanda)
 - Nothing to new Report
- 4.1.3. Secretary (James)
 - Last month's minutes from October will serve as my report
 - Let me know if you need to be added to email list or removed.
- 4.1.4. Panel Coordinator (Stephanie)
 - Following up on Valley Phoenix, in Old Business. Want to come for a speaker meeting on Sunday's at 6-7pmpm. Will be at least 10 women in each group. Sent an email to the H&I list. Reached out to other women in fellowship. No response.
 - Got in touch with Recovery Ways. Are not doing in person meetings at this time. Want to possibly do online meetings. Took Stephanie's contact information, and said they would reach out.
- 4.1.5. Literature (Collyn)
 - Placed an order in September. Received most of it.
 - Don't need any IPs
 - Need 5 Basic Texts and 2 It Works How and Why (Will place an order this month)
 - Also have some Spanish Literature
 - Attaching an inventory (see below)

4.2. Panel Reports

- i. Women's Jail (Carol) [Mondays @ 3:00p & Saturdays at 2:30p] (On Hold)
 - Not currently going in there.
 - No DOC facilities meeting currently.
- ii. Men's Jail (Jack M) [*Thursdays* @7:00p] (On Hold)
 - Same as above
- iii. Orange Street (Carol) [*Tuesdays* @ 7:30p] (In Person)
 - Lori and Carol are going in, in person.
 - Going well
 - Had 2-10 women each women, usually.
- iv. Valley Epic (Juli B) [Wednesdays @ 7:00p] (Ryan reporting)
 - Have been going every week
 - Continues to be a strong meeting
 - Has been going really well. 25-30 people each week
 - Getting speakers every week
 - Ryan and Juli alternate each week
- v. Men's Prison (Nate) [Sundays @ 7:00p] (On Hold)
 - Not present. Carol gave update.
 - Not occurring at this time.

- Carol reached out. Online allowing religious ceremonies in on Saturday and Sundays at this time.
- vi. Women's Prison (Carol) [Friday @ 7:00p] (On Hold)
 - Not occurring at this time. Same as above
- vii. SL Behavioral (Jeremy F) [Fridays @ 6:30p] (In Person)
 - Going well. Pretty full 22 people
 - Jason ordered 5 basic texts
 - Jeremy and Jason have been going
- viii. VA (Larry C / Carol) [Mondays @ 3:00p] (In Person)
 - Going well: Carol going on every other week.
 - Nobody to alternate with, could use someone else to support
- ix. Odyssey House (Sara) [Mondays @ 2:00pm] (in person)
 - Sent report
 - 16 people every other Monday at 2:00pm
 - Getting paperwork from HR for volunteers. Can have people come in, if they are vaccinated and wear a mask
 - Looking for speakers
- x. VOA (Donnie) [*Tuesdays* @ 7:00p] (in person)
 - Donnie running late but reporting. Donnie taking over for Joey as panel leader
 - Looking for men to come in
 - Ryan is going 3rd Tuesdays
 - James is doing 4th Tuesdays
 - Have literature, meeting schedules, some folks show up each month.
- xi. Recovery Ways (Amanda) [Tuesdays @ 7:00p] (on hold)
 - Not in person, possibly interested in meeting online.
 - Stephanie will continue to reach out
- xii. Fred House (Larry C) [Tuesdays from 9:30a-11:30a] (on hold)
 - Need to find someone to go out there.
 - Larry was going, but can't go now. Jack then was taking over, but can't either.
 - Looking for someone to take over.
- xiii. Summit County Women's Jail (Donald C) [Day & time]
 - Open to different days and times
 - Sasquatch Area was going for 5 years.
 - Have Summit County applications, which can be summited online.
 - Need women. Could be on Zoom, could be in person.

5. Old Business

5.1. Valley Phoenix needs women willing to serve. 67th South, 7th East.
Every Sunday from 6-7pm (1 hour)
Only Women, Requires masks
Needs a Panel Leader (A panel leader needs to have 1 year clean time, and 6 months)

experience in H&I service)

It's been a while, but we believe we used to be in there.

- 5.2. Need Support at Valley Phoenix (Women), Summit County Jail (Women's), Fred House
- 5.3. We are still running the meeting on Zoom as well, you can join at this link: Join Zoom Meeting https://us02web.zoom.us/j/82080326845?pwd=KzR5eFMydXJRdmR0eEFkQ1Z 0NFIRZz09 Meeting ID: 820 8032 6845 Passcode: 1953

5.4.

6. New Business

6.1. None

7. Prayer and Close at 4:49 pm

- 7.1. Amanda Motioned
- 7.2. Stephanie E. 2nd
- 7.3. Closed with Serenity Prayer.

End of minutes. Thanks!

H&I Literature 11.21.21

We placed and received most of our order from September. I am attaching the current inventory to this report. I do not see any IPs we are need of purchasing to date. But I we need more BT & ITHW. 5 and 2 respectively.

Please let me know if you need any literature or if I accidentally gave you Spanish lit last month. In loving service,

Collyn

Inventory ID	Name	Description	UnitPr	çe.	Quantity In 1922	121 Inver	ton Value
IN0001	Basic Text	Hardbound	\$	12.33	0	\$	-
IN0024	Basic Text	Softbound	\$	12.33	5	\$	61.65
IN0002	IWH&W	Softbound	\$	9.69	1	\$	9.69
IN0011	Living Clean	Hardbound	\$	10.51	2	\$	21.02
IN0023	Just for Today, Revised	JFT	\$	9.69	3	\$	29.07
IN0003	Intro Guide to NA	Softbound	\$	2.18	15	\$	32.70
IN0025	Spanish Intro Guide to NA	Softbound	\$	2.18		\$	10.90
IN0026	Behind the Walls	No Staples	\$	1.02	0	\$	-
IN0014	Behind the Walls	With Staples	\$	1.02	20	\$	20.40
IN0020	White Book	With Staples	\$	0.81	40	\$	32.40
IN0022	Who, What, How & Why	IP 01	\$	0.25	74		18.50
IN0027	The Group	IP 02	\$	0.33	70		23.10
IN0028	Another Look	IP 05	Ś	0.25	70	· ·	17.50
IN0013	Relapse and Recovery	IP 06	\$	0.25	80		20.00
IN0008	Am I an Addict	IP 07	\$	0.25	60	Ś	15.00
IN0021	Just For Today	IP 08	\$	0.25	60		15.00
N0006	Living the Program	IP 09	Ś	0.25	64		16.00
N0019	Sponsorship	IP 11	\$	0.25	80		20.00
IN0004	Triangle of Self-Obsession	IP 12	Ś	0.25	47		11.75
IN0016	By Young Addicts, For Young Addicts	IP 13	\$	0.25	49		12.25
N0012	One Addicts' Experience	IP 14	Ś	0.25	50		12.50
N0005	For the Newcomer	IP 16	\$	0.25	85		21.25
N0010	For Those In Treatment	IP 17	Ś	0.33			25.74
IN0018	Self-Acceptance	IP 19	\$	0.25	89		22.25
IN0029	H&I and the NA Member	IP 20	\$	0.25			35.00
N0009	The Loner: Staying Clean in Isolation	IP 21	\$	0.33	79		26.07
IN0007	Welcome to NA	IP 22	Ś	0.25	58		14.50
IN0015	Staying Clean on the Outside	IP 23	\$	0.25	75		18.75
IN0030	Money Matters: Self Support in NA	IP 24	Ś	0.56	19		10.64
N0031	Accessibility For Those with Additional Needs		\$	0.25	53		13.25
N0032	For Parents and Guardians of Young People in		\$	0.33	45	· ·	14.85
N0033	Funding NA Service	IP 28	\$	0.50	20		10.00
IN0017	Introduction to NA Meetings (no Staples)	IP 29	Ś	0.25	62		15.50
IN0017	Self Support: Principle & Practice	IP 30	\$	0.25	15		3.75
N0035	The Group Book	GROUP	Ś	1.02		\$	6.12
N0035	IP - PI and the NA Member	IP 15	\$	0.25		\$	-
N0030	IP- Mental Health in Recovery	IP 31	ş Ś	0.23	90		29.70
N0037	Misc. Spanish Literature	SPANISH	\$	0.33		ې \$	29.70
IN0038	Reaching Out	REACH	ş S	0.25	54		13.50
10035	Neaching Out	NEACH	Ş	0.25	Total	ې \$	680.30